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\,\\ Basic Concepts & 27

Ii-i; illustration 1.

PAn individual invests ¥ 4,000 at 10% interest rate com
lamount that he would receive after 5 years.

pounded annually for 5 years. Find out the

Solution :
Here, the amount that the individual would receive after 5 years can be calculated as follows :
A=P1 +i)"
Where, A = Amount at the end of 5 years
P = Principal amount of investment i.e., T 4,000
1 = Interest rate i.e., 10% or 0-10
n = Number of yearsie, 5
S A =%4,000 (1 +010)5
=% 4,000 (1-10)5
=% 4,000 (1-6105)
=<3 6,442

: Wi Iustration 2.

Ar. X deposits X 1,00,000 in a bank account of 6% interest rate compounded semi-annually for
0 years. Find out the amount that he will receive after 20 years.

.

s SOUUG

"he amount that Mr. X will receive after 20 years under semi-annual compounding of interest may
»e computed as follows :

A= P(I+ - )mn

—
m

ere, A = Amount at the end of 20 years
P = Principal amount i.e. ¥ 1,00,000
i Interest rate p.a, i.e. 6% or 0-06
m = Number of times for which compounding is made per year ie., 2.

Il

n = Number of years i.e., 20
2x20
. A = T1,00,000 (1+°'—g‘i)
= ¥1,00,000 (1 + 0-03)%0

= ¥ 1,00,000 (3-262)
= ¥ 3,26,200

[Here, factor (1 + L’;’)"’"= (1-03)40 = CVIF; 4 = 3262)

e
llill Mustration 3.

Mr. Z deposits ? 50,000 in a bank account for 5 years at 8% interest rate compounded quarterly.
Find out the amount that he will get after 5 years.






